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1. A card is drawn from a 52-card deck. What is the probability of NOT drawing a face card or a spade‘? ﬁﬁi
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2. A bag of marbles contains 6 white mar bles 4 red marbles, 7 green marbles and 8 black marbies. What is the
25 probability of reaching in a getting a green marble then a white marble without reglacmg the first marble?
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3. A math club contains 42% females. Of the females, 79% are taking Geometry and the rest are taking Algebra 2. 38%
of the males are taking Algebra 2, and the others take Geometry.
AY Create a free diagram to represent the information given.
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o B) What is the probability &f a male thet is taking Teometry? [
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C) What is the probability of a student in the math club @(mg Algebra 27
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D)) What is the probability of"a student being a male, given a student that takes Geometry‘? ‘%E Y
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4. Bob wants to buy a new Ipod. He can choosé from 5 colors, 3 different types'of mémory, and 2 types of headphones

How many ways can Bob choose an Ipod?
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5. A sports team consists of 16 players. The coach needs to assign a Captain, Co-Captain and a Team Assistant. How

many ways can the coach determine these positions? ? S for v %‘%Qﬁ’f) ‘&‘e CAVER_ g as ﬁf@j
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6. There is a relationship between the radius of an orbit and the time of one orbit for the moons of Saturn. The
table below lists data for 11 of Saturn’'s 30 moons. Round answers to the hundredths place.

Moon Atlas | Prometheus | Pandora | Epimetheus | Janus | Mimas | Enceladus | Tethys | Dione | Helene | Rhea

Radius 1.38 1.39 142 1.51 151 | 186 | 238 | 295 | 377 3.77 | 527

{100,000 km)
Time (days} | 0.60 0.61 0.63 0.69 070 1094 | 137 189 2741 274 4 52

= (3,37 34

b. Predict *rhe or’bt?aE radius of Tl‘rcm\ whxch has orbit time of 21 277 days. EL% s q 5
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a. Find the power‘ funcﬂon model for ‘rhe data for orbital hme versus r‘adtus

¢. Find the orbital time for Phoébe, which has an orbit radius of 12,952 000 km.
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Solve the fo!lowmg how all your workl Use separate paper, if needed.
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8. Solve the foliowmg equa’non for x and write in set notation:
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9. The current Iinan electrical conductor varies inversely with the resistance R of the conductor. The current is
1 amps when the resistance is 360 Q. Use this information to write an equation to modei the relationship.
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10. Indicate how the func’r:on is changed from the parent graph, f(x)= —vx+8-35 & cwreat
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. For the funchon y= -3 + 2cos(4x) fing:
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d. Graph one period in the negative and positive directions, P .

12. A building 200 feet tall casts a 95 foot long shadow. If a person looks down from the top of the building, what
is the measure the angle of depressson') (Assume the person's eyes are level with the top of ?he bLH Iding.)
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13. Find all solutions to 2sin{(2x) + 1 = 0. - Y.
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14. Find the measure of the indicated angle to the nearest degree.
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16. When placing an order of candy from an online store, you have to choose from [0 different flavors of candy. Each
order must contain at { 4 different types of candy How many ways can you place an order?
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17. We use 10 digits in our number system. How many 5-digit “numbers” can be formed if no digits are repeated and

zero is not allowed in the first position? @l " q ° 8’ » r?
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18. A hag contains 26 tiles with a letter on each, one tile for each letter of the alphabet. What is the probability of
reaching into the bag and randomly choosing a tile with one of the first 10 letters of the alphabet on it or randomly
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19. At a local high scho the pxoabillty that a student takes Biology and Chem%gétry is 16% The pr&Bability that a
student takes Chemistry is 42%. What is the probability that a student takes Biology, given that lhe student takes
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20. There are 6 women and 7 men trying out for 3 positions on the TV show Survivor.
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a) In how many ways can the 3 pasitions be hlled'? C =l g
Bdo 4@ \

by In how many ways can the positions be f?Hed if a WOImEr are h:red’? Q) C

¢) In how many ways can the positions be filled if 2 women &;&d 1 man are hired?
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For each equation, draw a graph, indicating at least 5 points. Then tell its domain, its range, and other requested
information. g 178 Al
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23. Write an equation for the translation of y = that has the asymptotes x =
£ .
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Solve the following. Show all your work! Use separate paper, if needed. -
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27, Find the

ea of triangle ABC if angle € = 30 degrees, b = 6, and a = 8.
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28. Given triangle ABC, fmd cngle B |f angle A = 143 degrees, c=22,and b =17. -
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29. Solve ’rmangle ABC i
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30. Solve triangle ABCif a=10,b =17, and ¢ = 1L}
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